LF 2024 f@m#&x

7 & a—R Mm%/ R BiAMMAE | ERI—K s/ F BIAE#E
Accessories BINDING PART:
1/4-20 BNDG BOLT KIT W/WSH 2117682 BLACK
2126925 LUFES (4oAY) ¥2,500 5 7pe3 LACE 17 waite | ¥400
M6-21mm METRIC BOARD BOLT KIT 2117680 BLACK
2126927 SRS UDAY) ¥2,500 HSoo22c LACE LOCK 1{& WHITE ¥400
M6 BINDING T-NUT 2175701 LACE END BLACK NEW ¥400
2126921 TASYa— SUXSR ¥2,500 957000 LACE KIT BULK 1PK ¥3,500
5126928 M6 BINDING T-NUT KIT W/LOK ¥3.000 2155590 LACE KIT BULK COLOR 20PK ¥33,000
EHHOIUES (4DAY) ’ 2175702 LACE KIT BULK BLACK 20PK ¥33,000
6X HARDWARE KIT COMPLETE CENTER FINS 2010 FELIE
2206100 VY —FR—RE6IVFT—YDaVTY—P Yk ¥3,000 2106993 1.0
IPX M6 BNDG BOLT KIT W/LOK 2106842 LBC FIN 10-24 1.3 ¥3,900
2126926 SUASHYE (ADAY) ¥3,000 06991 15
4D SCREW ANGLE LOCK x 4 2106990 0.8
2195900 DT—YRAIYRY ¥3,500 2106989 XLC FIN 10-24 1.0 ¥3,900
2175703 FLEXTRACK£64 > F7—YAZ o> b ¥4,500 1 18206 RX 204 9 I 07 | v o000
2195901 4D FLEXTRACK MOUNT x 4 Y4500 2185317 7 1.0 ’
FLEXTRACK&EADT—Y <OV ’ 2118207 SX 0.7 2¥tvhk ¥4,900
METAL ANGLE LOCKS
2095663 LF2TEYE (4D AY) ¥4,800 2155794 WAKESURF FIN KEY / SCREW KIT ¥1,900
4D FLEXTRACK HARDWARE KIT COMPLETE 2215980 STUBBIE 2.3 SINGLE TAB FIBERGLASS FIN PAIR ¥3,500
2195902 FLEXTRACK&4DT—YRayF)—rtyhk ¥5,900 2175789 ‘ 1.0
2175790 | SKIM FIN DUAL TAB 15 ¥3,800
2215950 CAN KOOZIE HEX LOGO 4PK ¥4,800 | 2175791 2.0
2215706 6' BLACK DOCK TIE ¥4,800 | 2185313 STUB FIN DUAL TAB ¥3.800
2215705 4" DLX DOCK TIE BLACK ¥7,800 | 2185699 3.0
2225804 TRAILER GUIDE 4' DLX PADED BLK(PAIR) ¥12,000 2185312 CENTER FIN DUAL TAB 3.6 ¥3,800
2215941 HEX RUBEER FLOOR MAT ¥22,000 | 2185696 3.4
2215896 FOIL STAND ¥35.000 | 2185697 SIDE g;zgf TAB 3.9 ¥5,800
2215700 | STANDING 5 BOARD FLOOR RACK | ¥49.000 | 2185698 4.4
BANNERS 2185314 LONGBOARD FIN SINGLE TAB 6.5 ¥14,000
2215875 4'x5' STACKED LOGO BANNER ¥18,000 | 2175696 3.7
2215876 3’8 LOGO BANNER ¥18.000 | 2175697 CASTJBF?FNFI':IOZN*;E&MB 4.0 ¥15,800
2215877 3'x10' LOGO BANNER ¥22,000 | 2175698 4.4
2195805 15' FALG FEATHER BANNER ¥68,000 WAKESURF FINS - 10/24 Screw fins
2155835 BANNER CABLE PARK TRIANGLE ¥68,000 | 2165284 1.0
‘ SKIM FIN KIT TFIN
2215879 —— WHITE ; ggggg ‘ 10/24 SCREWS 713 Y2800
2215883 HEX DROP VINYL DIE CUT 10PK BLACK ¥4,000 2165281 SURF FIN KIT 3 FINS 2.0 ¥9 500
2215880 | 3.5" CORPLOGO PRINTED VINYL STICKER 10PK | ¥4,000 2165280 10/24 SCREWS 3.0 ’
225581 [3. CLRD HEX DROP PRIVTED VYL STICKER_T0P¥4,000
2215878 | . WHITE 2155812 1.0
5215882 9" LOGO VINYL DIE CUT 10PK BLACK ¥8,000 5155811 SKIM SING]L/IifIZI\:)KIT 1 FIN T ¥2,800
2215942 3" 25 YEAR STICKER 10PK ¥8,000 | 2155810 2.0
2215943 4" HEX 25 YEAR STICKER 10PK ¥8,000 | 2155814 SURF FIN KIT 3 FINS 2.0 ¥9.500
2195806 50" DIE CUT WHITE | yg 800 |-2153813 (20154 LI R OFISHA) 3.0 :
2195807 BLACK ’ 2235365 SURF PAD FRONT ¥17,800
2235366 SURF PAD TAIL ¥17800
2235755 BLUE 2235367 SKIM PAD FRONT ¥17,800
2235756 BOAT DEFENDER LGT GRY | ¥20,000 | 2235368 SKIM PAD TAIL ¥17,800
2235757 DRK GRY

2117668 SKTC 1.0 ¥3,900




